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“Part A (T -)
Q. No. 1 (a-f) carries 1 mark each
Q. No. 2~ 7 carries 2 marks each

Q. No. 8-12 carries 4 marks each
Q. No. 13 & 14 carries 6 marks each

Part 'B (2 -T)

Q No. 15 (a - f) carries 1 mark each
Q No. 16 - 21 carries 2 marks each
Q. No. 22 =26 carries 4 marks each
Q. No. 27 & 28 carries 6 marks each.

>

Total (Part A & B):

1x6= 6

%6, = 12
4x5 =20
6x2 = 12

Total = 50

1x6= 6
2x6 = 12
4x5= 20 -
6x2 = 12

- Total = 50
/50 +50=100

Contd.



PART-A /F-Sa

1. (a) Define the term scarcity as used in economics. : 1
- SIS RS TRAIATOR eI et i |
(b) What is opportunity cost? | 1 .
S A 2 ] | '
() If marginal utility of a commodity is higher than the price, then the
consumer will buy more of the ,commodity. 1

- (Write true or false)
I 9B T W@WWWW%Q, (ST TATSIGI

T TR AR g F ,  (vw & avT )
(d) What will be the effect of price change on supply of a commod1ty
with perfectly inelastic supply ? 2 1

T ST QAP <Ol & W—Wﬂﬁmmﬁsﬁ ?
(e) How will an 1ncrease in the price of mputs shift the supply curve ?
i1

@W'ﬁq@mmﬁmmmwwwaﬁw |
(/) What is shut-down price ? _ 1
e W 2 ' 3 |

2. Why the producnon possibility curve slopes downward from Ieft to right ?
P

.@Q‘?{Tﬁﬂﬂ'@Tﬁ'ﬂ—T mﬁwmwwmﬁaﬁﬁﬁmmﬁ

3,  Give two reasons of a leftward shlft_ in the demand curve. | )
izt mm@wmﬁ—w gb‘/asﬁq@mﬂW|

4. The pnce elast1c1ty of demand of a commodity is 4 and the percentage
' change in price is 8. Find the percentage change in the quantity

demanded. ' 2
ammmmmm4wwmﬁﬁﬂsmm
SIS st I

5. What.is fixed factor ? Give one examplé’. ' Ak 1+1;2

1 Tt & ¢ by S faani
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6. What is meant by inelastic supply ? Draw an inelastic supply curve.

1+1=2
. AR mﬁm%?ﬁww&%@% mma_mwg:amwn -

7. Mention two differences between monopoly and perfectly competitive
' 2

market.

oA I % o AfSrifTenEs I gb‘/oneﬁﬁth|

8. DIStlI’lnglSh between change in quantlty demanded and change: in
4

demand.
| WW«WWWWWW@WW
9. Mention the relationship between total utility and marginal utility.

@@WWW@WWWWWI

10. What is variable cost? Why the average var1ab1e cost (AVC) curve
becomes U shaped ? 1+3=4

WW%’WWWM(AVC ﬁmuwﬁa

=

11. The production function of a firm is Q= 2L K.

Find the amount required of factor K if the firm wants to produce 200
units with available 16 units of factor L

. (Q = Output,. K—Capltal L = Labour)
: awwﬁm@qu:’a Q=20"K? :ﬁwm 16 43I

L TAMAE SR 200 43 T T FiR] iR s @
Kw@'vnwvrﬁm ﬁ‘ﬁTWI(Q=@Q9ﬁW ﬁﬁm“l‘,K=§}’1’iﬂ,L= =) |

"

12. Mention the effects of the followmg on the supply of a commod1ty
2+2=4

G) Fall in y fie price of factors.

(i) Rise in the per unit tax.

<51 &I NWGWW@WWWWWWI
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13. Explain the Law of Variable Proportion with diagram.
B ame ~fRaeta Saimm RE g F01

\ Or/ |l
‘The total ﬁxed cost of a flrm is Rs. 200. Fill in the blanks of the following
table. | 6
amﬁmsﬁfiﬁwmﬁmwl—m—ﬁmwwﬁw !
Output TC AC AVC MC
Besime - .
1 2% f. 100 -
2 460 - - — -
3 — 250 | - o
A L . - 230

14. Explain the process of Long-run Equlhbrmm Price determination of

perfectly competitive industry with diagram. ‘

6

vﬁaﬁmﬁ—mﬁﬁ@mﬂaﬁwﬁawwﬁm«mmw
CIRIISE I

Or/ 94l -

Show the effects of change in demand of a commodlty on equlhbmum
price, if : - ' - 3+3=6

(i) the supply of the commodlty is perfectly elastxc

(i) the supply of the commodity is perfectly inelastic.

| B! TR O WA 69T bRl ARKSR der (i@ 3y —
¢ ToR et ol e
(i) wIOR e < SfEfegeT]
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15. (a)‘

PART-B / &-oioe

In what circurnstances, the GDP of an economy can be equal to
GNP ? | = 1
- & s 94" o™R GDP, GNPaW@mv :
(b)) What is transfer payment ? : _ 1
weRe AReNY & ¢
(0 What is voluﬁtary unempleyment 2 £l : 1°
cTRge PRt e
. (d What is Break-Even income ? _ 1
At oy & 2 |
() What is the full form of GST? - ey
GSTT 7ol i o1 & 2 '
() What is zero primary deficit? N \ : 1
e b e |
16. Mention fwo sub]ect matters of Macroeconomics. - 2

- IR SRR WWWWI

17. Mentxon any two types of leakages found in the Cu‘cular Flow of Income.

Wb‘ﬁnm@@am WWWWMWW| |

2..

18. What is mvestrnent mulnpher ? Write the relanonshlp between investment
multiplier and MPC. T+1=2

RRe eiw B ?ﬁﬁmﬁ @%WMPC-EWWWWI
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19.

20.

21.

24.

25.

26.

Mention the two pr1mary functions of money. ' ' -2

TR 7o 0 I S 491

Mention two differences between revenue receipts and capital receipts.
' | 2

R Al =i Joe) 2t Tew ﬁﬁrvnafaﬂf%‘anl

State two sources of supply of foreign currency., : - 1+1=2

. Zamfﬁasm (NS 707 e T 541 |

The value of MPC of an economy is 0-4. What amount of new investment
is required to generate new income of Rs. 500 crore in the economy ?

4 -
G YIS MPcam:{ommﬁ%woa—msoo @ﬁ%%@wmf‘rw |
W%ﬁﬁmﬁﬂ—-{ﬁﬁwm W@ ?

Explain any two fiscal measures to solve the problems of excess demand in
an economy. . 2+2=4

amwﬁﬁﬂwmwmmwm@ RlceIeaTr 751 et a2
WWI

Mention four factors eausing disequilibrium in Balance of Payment of a
country. - 4

ramm*ﬁﬂﬁmawwm%ﬁﬁw BIS0! ComiN Travat 4t |

Write down four differences between Direct Tax and Indlrect Tax. 4
SIS T T ST T AR /107 oMoy el

What is Budget Deficit ? What are the three types of Budgetary Def1c1t ?
© 143=4
Wﬂrﬁﬁs?wm folbrem e
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27. Describe the Circular Flow of Income in a Three Sector Economy. 6
Q3 TRGI Aege SLNET o vy s [ |
Or/ E/5 :

Explain the Expendlture Method of calculating Gross Domestic Product
(GDP). 6

5 T T SHRIT U SIEROC! T < |

28. Explain the process of credit creation by commercial banks. 6
e s et 3R dfeFmi! o <= ’
Or/ =44t

Describe the Quantltatlve methods adopted by the Central Bank to control
credit created by commercial banks. 6
 qfifere @ AR w0 A g AR @R @ ol T4 ﬁﬁmﬁﬂ—wﬁﬁﬁ
A 1
& X
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